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1.

GEOGRAPHY
Paper - i

Which type of rocks occur in Kutch and
the north-eastern part of Kathiawar on
the Dhrangadhra plateau ?

(A) Jurassic
{B) Pre-Cambrian
(C) Cretaceous

(D) Pleistocene

- Which of the following is not related to

Airy’s ‘Concept of Isostasy’ ?

(A} Law of floatation

(B) Root formation

(C) Level of compensation

(D) Uniform density with varying
thickness

. Which of the following valley is formed

by underground water 7
{A) Blind

{B) ‘U’ shaped

(C) V' shaped

(D) Rift

. Lappies, solution holes, doline of uvala are

associated with which of the following ?
{A) Granite rocks

(B) Sedimentary rocks

(C) Metamorphic rocks

(D) Karst rocks

1. YOGl oll GRAYEAUH], 5269 Wal
sldallellsell Ballel UM S USL2at
wssl Hofl 24d & 2

(A) *JARs
(B) -310flatet
(C) (2R
(D) uct2dldlat

2. Aol ¢ Adetoll v ol Aeunigll

58 YBalal UejuA otell.
(A) dRaltell (A2

(B) °sse [Anliel
(C) AHAAA qwdl
(D) sl YHIQ| UMLet Elotclt

3. o{lAott WS arelevan st clotell vl
58 8 ?
(A) yst vl
(B) ‘U uus1zell vlw
(©) Vv’ 2usiRedl vilgl
(D) {lse vilat

4. Adly, alael cilet W Slelset
el Bt st ol Asiuiell Sl
AL AsnAA B ?

(A) JotteSeatt uissH
(B) Y2 wssl
(C) [Agct wshl

(D) sl wssl
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5.

Which of the following plateaus exhibits
“Onion Weathering” ?

(A} Bhander
(B) Saurashtra
(C) Malwa

(D) Ranchi

. Which of the following is not associated

with physical weathering ?
(B) Frost
(D) Oxidation

(A} Insolation

(C) Water

. When an uplifted landmass is denuded

by the erosional work, the rock waste is
deposited in neighbouring depth columns.
What is this process known as ?

(A) Isostatic adjustment

(B) Plate tectonic movement
(C) Continental drift

(D) Mountain buiiding

. Who gave this statement “If the rate

of upliftment is higher than the rate of
erosion, both the absolute hight and the
relative height increase” ?

(A) Albrecht Penck
(B) W. S. David

(C) Walther Penck
(D) Alfred Wegner

5. o{tAotiHizll sell GRAYTAHL US Walbla,

glal HA & ?
(A) eid2al Guyial

(B) Agell Guyta
(C) Hnalell GRUyte

(D) 2|l Gyt

. ol Aeuniell 53 uRoln alllds [@Qetwl

A Aol ool
(A) Yool (B) Bn
©) well (D) alsall3atst

. GuslAc gAML (ArctiRe] UKL

st gl Rl 48 P2l USEL WSSl
255t1ulle] vuguiyell ol uganedl oo wR
(Aaug el B 2w yBaal 58 8.
(A) @ UMl RN

(B) Qe 2sillAsa] wug

(C) uis yaget

(D) udd @uiat

. “UARLLU £2 5l Guslaol € ay

Aol dl dld@s Gue wWal W& GUs
ol & ~ it [Qtet S1& R 8.

(A) A2 Uos
(B) sucyy. A, 3(As
{C) AR UoS

(D) WEES AdlelR



9. Which one of the following is not a 9. ollAauuiell 53 vl o WBua

10.

11.

‘Periglacial feature’ ?
(A) Block fields

(B) Snow fields

(C) Stone streams

(D) Boulder fields

Which one of the following is a scale
for the measurement of magnitude of

earthquake 7

(A) Torro

(B) Beaufort

(C) Pressure gages

(D) Mercalli

Very warm and humid air can rise very
vigorously especiaily if it is rising over a
mass of very cold air. Such a phenomena

can cause which of the following ?
i. Storms and cyclonic storms
ii. Intense rain and hail

iii. Caim weather

10.

11.

atel] ?

(A) stal ALl

(B) olR§UAL AELA
(C) ot R0l

(D) ueeRlaumt Agtsll

egsuell (Agct Muct W2 RAAeunisdl
sl Bctoll GuUAldl wa 8,

(A) 2l
(B) w8l
(C) e6URle

(D) HR3cl

Vlo1% M el Aawelofl sau wulR 651
clty Ay U GUR cllctlelREHE udcu

B R LAl YeolAl vl B.
i Algtoll ol Uscll ASsLell
i A U dRULE Al 83U

iii. 9t ScllHLet

iv. Snow fall iv. @u ol
(A) iandii (A) iandii
(B) ii and iii (B) ii and iii
(C) only iv (C) only iv
(D) onlyi (D) onlyi




12. Who of the following presented airmass | 12, [Quo{l wuellecsll qo[[seQL L2 clky
model of classification of world dy22e] A3A AN Yt 5§ & ?
' 2
climates A) a2 @22 Slust
(B) Al suey. ddlde

(C) 2.8, VAR A B. %¥. (BA3

(A} Wiadimir Peter Koppen
(B) C.W. Thomthwaite
(C) J. E. Oliver and J. J. Hidore

(D) G.T. Trewartha (D) %.8l Acual
13. According to climatogenic soil 13. aelealt Wl wHletall cdlls00 yrusl
classification what would be the colour oM ua Yl wclsananall aHlotol
of the soil in hot dry climate ? 2L all 69l ?
(A) Black (A) sl
(B) Red (B) cle
(C) Yellow () Ul
(D) Brown (D) seu€

14. What is the effect of gravitational pution | 14. dldiaRe{l2 eoltet UR IR ccusyel

atmospheric pressure ? iefl wu ¢ B ?

(A) More gravitational pull higher the (A) ;‘:}u é’?“‘“f’ﬂ% oA L AU
pressure (B) Y J3ecitsRlo] won Al 4lgY

(B) More gravitational pull lower the gL

pressure (C) dRccsHRlatl tinoll cldleiR el
EGIRL UR B8 wWHR ool

(C) Noeffect (D) 235N of oL cllctlalQLell

(D) Fluctuating effect EGRHL auue cla 8

15. A column of warm, less dense aircauses | 15, 2121 24al WeSloflu salisll el uwél

pressure at the surface which yR EGHLRL] 5L1R1L Glal B, Al A
will lead to rising air. scllal Ged ZlauHl ER &
(A) Low (B) High (A) oflu (B) G

(C) Stable (D) Erratic (C) G&R (D) wRaMd
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16.

17.

18.

19.

The atmospheric pressure, force of
wind and reflection of light is due to
the presence of which of the following
gases ?

(A) Nitrogen

(B) Oxygen

(C) Argon

(D) Carbon dioxide

Which one of the foliowing current does
not contribute to form a complete circle of
currents in the South Atlantic Ocean 7

(A) West wind drift
(B) Canary

(C) Benguta

(D) Brazil

The term used for the process of direct
conversion of ice into water vapour is
known as

(A) Condensation
(B) Sublimation
(C) Evaporation
(D) Sattation

The atmospheric layer reflecting radio
waves is called

(A) Ozonosphere
(B) Homosphere
(C) lonosphere

(D) Mesosphere

16.

17.

18.

19.

(AU sel clzgett 5128 cutlazella

g0l uelollefl 21 WA ysiato] yRAo
AsA ol & ?

(A) ef2loset

(B) sls¥lleret

(C) xUst

(D) slolet slllsruess

oflactiaisll 520 yeus e@E Aecus
HSELMIMRoll ASHL ool el otell ?

(A) UBlHell Uatetadl

(B) 3ot

(C) Aoyl

(D) wtBctll

ogMiell el welledl i olotcyel
ylsal 585 sdaua B ?

(A) aclleiclet

(B) Guclletatst

(C) suwfletcist

(D) Azeuat

At aRQHL WA 200 Yol
$c] AW §Y B ?

(A) Aot w0

(B) uxtcllal vyare

(C) HsLaRel

(D) HradRel
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20.

21,

22,

What is the main concept used in
Thornthwaite's climate classification of
1948 7

(A) Thermal efficiency

(B) Moisture efficiency

(C) Potential evapotranspiration
(D) Precipitation effectiveness

The upper surface of the sea, upto the
depth of 200 m is known as

(A) Photic zone
(B) Aphotic zone
(C) Pycnocline layer
(D) Apycnocline layer

Statement —1 : An insignificant latitudinal
decrease of oceanic water is noted in
North Atlantic Ocean.

Statement - Il : The presence of
Sargasso sea in the North Atlantic
Ocean is responsible for the
insignificant latitudinal decrease of
oceanic water.

Select correct answer from options given
below.

{(A) Both the Statements are true and
Statement Il is the correct explanation
to Statement |

(B) Both the Statements are true
and Statement |l is not the correct
explanation to Statement |

(C) Statement ! is true and Statement ||
is false

(D) Statement lis false and Statement ||
is true

20.

21.

22.

.. 1948 Hi NedAse ol aldieRulel

(520l Yyl v 5L B ?
(A) cludlotoll stlauct

(B) Aol stlama

(C) delldd orwllcudet

(D) clRULEl UUBLRS L

el Gurell wwdlell 200 Hlezedl
Gs18 Yllall (AR sdau 8.
(A) SRs Rt

(B) AARs Rlot

(C) Wsellcigal iR

(D) AW Waslcleol R

Quet-1; Griz Vleclles HalUwRH
asetl Wl @etolluwt ueatiella
Y2(Sl dl Ha B.

Qautet -1 : Gz RecllaRs HelRORM
AR UYgell 51RA Wygetl WMl
@Qetotittu gl tetst el HAB.
ol Aatt U WAl [Ascu UE 52U
(A) olal [Quuell AUl B ua [Autet 1A

Qeuet | of WY sk g2l 8.

(8) ol [Qutell WAL B uel Quist 1A
Qeet | of WY 5120 £9iad otell.

(C) @Quuot 1 Y B uel [Quist 111G .
(D) Qtuet 1 v1E B U [Quiot 11wy B,
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23.

24,

25.

What is the standard sea level
pressure ?

(A) 1009 mb
(B) 1011 mb
(C) 1013 mb
(D) 1015 mb

State which of the foliowing characteristics
reflect Indian Ocean Dipole (IOD).

{A) The tropical Indian Ocean is bounded
by land in its three sides in a warm
pool

(B) The warm air from Tibet moves
southwards and descends in the
Indian Ocean and strengthen high
pressure ceil

(C) When there is high pressure over
equatorial south pacific, there is low
pressure over the equatorial south
Indian Ocean

(D) ltisanirreguiar or a periodic oscillation
of sea surface temperature in which
the western Indian Ocean becomes
alternatively warmer and colder than
the eastern part of the Ocean

The plants living on the surface of the
continental shelf are known as

(A) Epifauna
(B) Nektons
(C) Epiflora
(D) Phytoplankton

23.

24.

25.

R eRas eonel 32 & 2

(A) 1009 BUAou?
(B) 1011 AR
(C) 1013 BA R
(D) 1015 ARz

[AActuiel 56 cla@sc Feustuora
(@ ga A (10D) A ylAlluct 5% B A
R el

(A) GwusRoitlla Bot Holauoz A
AR clyulell letell A
JRH YA B,

(B) [QAdeell atzu sl £ ARS WA D
Ua @ HalRHL o1lA Gadla
GY E0GLol A HAG A Holld B,

(C) R [AyagQa e@e ARGs w2
G2 eoldl Sla & @R @Qyagdla
e Fe HERIPR YR WY £outdl
sl 8,

(D) 2 eRaud qwdloll clumtal (SST)
o URAMA W wHRs
WRANA B FHi uBlH B¢
HaLLR dslAls Il HsldRell
yd GllaL sl ay 2K wal 681
ool B,

visla storelloll quwdl Quz Meu Hadl
dotrud st ol LA H ?

(A) ARGl

(B) AAs2at

(C) ¥ sclu

(D) 8162l WAes2al



26. Who propounded ‘Stationary wave
theory’ of ocean tides ?

(A) Newton {B) Harris
(C) Whewell (D) Airy

27. Deep sea plain/abyssal plain is absent
between which of the following latitudes ?

(A) 10° to 20° North
(B) 10° to 20° South
{C) 60° to 70° North
(D) 60° to 70° South

28. The following statements are related to
Hurricane. State which of them are true ?

i. They develop over the ocean
between 8° — 15° North latitudes.

ii. They are aimost absent in the South
Atlantic Ocean.

ili. They develop at the equator.
(A) iandii (B) ii and iii
(C) onlyi (D) only iii

29. Ocean basins only comprise of
i. Littorat zone
ii. Neritic zone
iii. Bathym zone
iv. Abyssal zone

Select the correct answer from the codes

given below :
(A) iand iii (B) ii and iii
(C) iii and iv (D) iiandiv

26. £BaeS erclell Raetdl Aa @3l

AQ wdll scll ?
(A) o8l (B) 3R
(C) dac (D) w3l
27. vellel 9 Gt UYse]

NElol/ Jleot UM NELel el Hog
o2l

(A) 10° el 20° GiR

(B) 10° &l 20° (A

() 60° &l 70° GriR

(D) 60° &l 70° (@

28. ol Actt [Quell sR3 WA Aoilld B,
i. &3%atg9l 15° @iz vl cl’sil
HEWLR B Wil 8.
ii. 8%l (@l ANeclRs HELRURM
Ggclell ot2ll
iii. 8R%e [AYagfdasl WA @siu
yn 8.
Gurell [QuuclHiell 53 (Quuet w3 &
A weudl.
(A) i U i
(C) 5t i

(B) ii Wt i
(D) S5t iii

29, AYs d2 sl Rletell vad B,
i, dl2lR At

i. Adls oMot

jii. AAUTH Rlet

iv. Aolluct Rlat

(A) iand iii (B) ii and iii

(C) iiiand iv (D) ii and iv

]
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30.

31.

32.

33.

What does continental platform include ?

(A) Continent, continental shelf and

continental rise

(B) Continental shelf, continental rise
and continental slope

(C) Continent and continental slope

(D) Continent and continental shelf

‘Deforestation’ is a significant source of
(A) CO,

(B) CO, and NO,

(C) CO,, NH, and NO,

(B} CO,, CO and NH,

Ozone layer in the stratosphere keeps
percentage of the Sun’s UV
radiation from striking the earth.

(A) 10 - 29
(B) 50 — 69
(C) 70-89
(D) 95— 99

‘Eutrophication’ is applicable to which of
the foilowing poliution ?

(A) Air

(B) Water
{C) Land
(D) Noise

30.

31.

32.

33.

vidlal W@e slini ol Asinisl st
UHLdel W B ?

(A) uis, vista wesell, vidla uaig

(B) visla wotrell, vidlal uaia, visly
alaa

(C) ¥is wal visla aloua

(D) uis vl visla swell

ofl Aot ULl s2u cary/ il Gu?

‘cot(dottal’- ofl el W2 Ao HA B2
(A) CO,

(B) CO, %l NO,

(C) CO,, NH, 213 NO,

(D) CO,, CO ua NH,

Yol wwtaell (G200 yedll drs
Ulalell WAt 2cdRell 25l
AHAM 2R Yl A B.

(A) 10-29

(B) 50 — 69

(C) 70-89

(D) 95 -99

gell YsiRell Yeuel wd ‘YzUsAaet
dol@dd & 7

(A) &cll

(8) well

(C) et

(D) e



e

34.

35.

Statement - | : According to the ‘Law of

conservation of energy’, energy cannot
be created or destroyed but can be
transferred from one form to another.

Statement - Ii : The potential energy that
results from pushing water above mean
sea level is iransferred to kinetic energy
that initiates the horizontal propagation
of Tsunami waves.

Select correct answer from options given
below.

(A) Both Statements are true and
Statement |l is the correct
explanation to Statement |

(B) Both Statements are true and
Statement Il is not the correct
explanation to Statement |

(C) Statement | is true and Statement ||
is false

(D) Statement | is false and Statement [I
is true

State which of the following is the

indication of drought in respect to

monsoon.

(A) A drought occurs when the rainfall is
less than 90% of the normal

(B) Maximum delay of monsoon of three
weeks from the normal date of artival
for a given region

{C) Amaximum break of three weeks after
the timely onset of the monsoon

(D) When the monsoons with draw from
north-west India by the last week
of July

34.

35.

(@ttet - 1 : Gosd AReell (R AafulR
Gosle] uFet ¥ ollal us usq el
uid Al 3ls wgunigl ol
UMl 3UldBRd 53 asta B.

Qe —1i: uygott will eRauall
A2 qwdledl Guz udcuausl
Ae@Qd Gl oA Galul dwela
A B B Yottr{loit Mostell @clles
Ul el azuud 52 9.

ol Aot Ul A [Ascu wale 53

(A) olal [Quuell AU B wa At |
A Auiet | ofl WAl Bl 52 8.

(B) ol [Auitet WAL B U [Aeutat
A (Quiat |oll Wl et
53 otell.

(C) Rauot 1 Y & wWal [Auitet 11 W1
8

(D) @tuot | WIE B Wal (Attet 11 WY
8.

Alrtdtelt Aol o{lAsunisll s
XS0l S B A Rl

(A) AR ARUE UM 5cll 90%
AL 8la RUR grsLOL ULl B.

(B) S1&F URL UL HIZ ULHIALo] WAHL
AHLA WALl drfluell HevH

3 wsciBan (Qeilldd aa.
(C) AWHdlell AHAUR AL ugdl

HatiH 3 vlsallBaustl (@M

(D) AR YCUTHL vilAn Actte Yellul
Grir WEAH euRcisll AHy we
WALE A 8.



36. The following statements are related

to EL Nino. State which of them are

true ?

i. Warmer than normal temperature
across central and eastern tropical

pacific ocean.

ii. The sea surface temperature in
eastern equatorial Pacific Ocean falis

below normal.

iii. Weaker than normal easterly trade
winds.

(A) iandi

(B) ii and iii

(C) iand iii

(D) Allthree

37. Which one of the following is the most
notable non-nuclear country of Kyoto

protocoi ?

(A) United States of America
(B) United Kingdom

(C) United Arab Emirates

(D) India

36. o{lAotl [AAEa vctellol WA iRt
& Quiell Wy Qulet wgud,

i Hea ual ydla GwisRoilla
VRS HalMIRHL dluMist
Al Scll Y IR,

iyl [Qyagl@Qa ARGs
HeLAURH disoll AWdle] ciumet
UM 5L (A 2 B,

i, AHled Yllat Quidl uaedl s
LUV

(A) iandii
(B) ii and iii
(C) i and iii
(D) A

37. oflAou UGl sl 2ot 52021 WASled
ol ‘oflot-oyscllar’ 2o & ?

(A) YoUeSes w2 vlls wARsL
(B) youtef2s [Sosu
(C) Youeses e viHlatet

(D) auRcl
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38.

39.

40.

Match Column — | with Column — il and

select the correct answer code.

Column -1 Column - i
a. Earthworm 1. Producer
b. Grass 2. Secondary
carnivores
c. Frogs 3. Primary
carnivores
d. Hawks 4. Detrivores
a b ¢ d
(A) 4 1 2 3
(B) 2 4 1

3
c3 4 1 2
o4 1 3 2

Which is the most stable ecosystem ?
{A) Terrestrial

(B) Marine

(C) Mangrove

(D) Polar

Natural balance is disturbed
regularly in

(A) Grassland ecosystem
(B) Cropland ecosystem
(C) Pool ecosystem

(D) Desert ecosystem

38.

39.

40.

A ellol UAE 53R olssi alscll.

el =1 e (G ||
a. vonRa 1. Geules
b. uld 2. [Bcllas 7o0aL
i3l
c. t5sl 3. yuMs
HieLdl
d. ol 4. wuzelsldl

a b ¢ d
(A4 1

TN N
—r

B)2 3
€3 4 1 2
;4 1 3 2

1ot U4l 52 URRAAS dxt Al
ay AR B 7

(A) ot

(B) eRauss

(C) Aoyt

(D) yclla

sl URRAMAS il AHled HHEL
Glad 30 vilrala & ?

(A) Gul yuel ulREAQAS da
(B) Aclflat uURRAAS A
(C) ¥t uRRAMSs dat

(D) W] URRAMS
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41.

42,

43.

What sort of sex ratio is ‘Ratio at Birth’ ?
{A) Primary

(B) Secondary

(C) Tertiary

(D) Quatermnary

The 4 and 5 Mililennium Development

Goals adopted by the United Nations in

2000 aimed to Worldwide by

2015.

(A) Increase literacy rates

(B) Decrease child and maternal
deaths

(C) Immunise all infants

(D) Provide safe drinking water to ail

Healthy person is one who is close to

‘STITHAPRAGYA’ meaning

(A) Compassionate and every ready to
help others

(B) Who maintains equality in pleasure
and pain

(C) Has subdued fear, anger, jealousy,
hatred and over-attachment to
creative comforts

(D) Takes balanced diet

. By the middle of 19* century, etiology of

diseases converged as a single factor
(A) Germ

(B) Adaptation to environment

{C) Availability of food

(D) Population explosion

41.

42.

ol Aetl Hisll 520 dpEltl A ort

UHAA 2l 2Bl sdau ?
(A) ulu@s

(B) dlla

(€) dcla

(D) ugaflat

Ueyset A g1 2000 ofl AEAML
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deaulsl sHis 4&5 ol 3 2015
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(A) UBRAl EML el s2cllall
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scloll

(C) atut % [Blglloj 2¥AsQL 52¢cilef
(D) citust Qv Yletto] wiell vuu el

R A5 d B B FARYsel Aws
Sla ult ctseloll W &,

(A) % €G] Wl WA AAlSlaL HEE
sal M2 N dauR B,

(B) Bl wtole WA EVHL AUHLotcll
asacll AW B.

(C) BHeL o, A, v, 8y, ellds
Yul WLaslell 2691 calui s .

(D) % Ad@Act 2w A B.

e Ll udlot neat yllui Aol
sdlallcily Hi V53U U o
(A) Pl

(B) ualdRul {2 Assctot
(C) vilsell Guctoticl
(D) izl ([Qedle
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45.

47.

Greater amount of salt

the freezing point.
{A) Increases
(B) Lowers

(C) Stagnant

(D) Fluctuating

What vital events are registered under
‘Civil Registration Scheme’ ?

(A) Birth and Death

(B) Marriage, Birth and Death

(C) Marriage, Divorce, Birth and Death

(D) Marriage, Divorce, Adoption, Birth
and Death

The following are the targets of which
National Population Policy (NPP) ?

i. Achieve zero growth rate of population
by 2045.

ii. Reduce infant mortality rate of below
30 per 1000 live births.

iii. Reduce maternal mortality ratio of
below 100 per 1,00,000 live births.

(A) NPP 1956
(B) NPP 1967
(C) NPP 2000
(D) NPP 2010

45.

46.

47.

wlatell ay wouedl sl
(A) dd 8

(B) ue B.

C) RAR ¥ B

(D) auue i 8.

58 HscayQl uzolal Yldlet W0t

Alogoll $50L slitiellul wd B ?
(A) %o Ve Y

(B) CLool, %at ol M}

(C) cool, W2LBSL , %ol ol Y

(D) @dol, Q2LBSL, €118, o Wal HY

ol Aetl el 56 AR ARAR A o1t B.
i. 2045 YLl crelloll got gl €2

sl scl.

i, Ul 6%t W s @y He eR
30 ofl o{lA watsal

iii. 1,00,000 Wt ¥oH Ml 3 €]
yueL 100 ol oIlA walsd,

(A) NPP 1956

(B) NPP 1967

(C) NPP 2000

(D) NPP 2010
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48.

49,

50.

51.

Areas which are engine for economic
growth supported by quality infrastructure
complemented by an attractive fiscal
package is known as

(A) Export processing zones
(B) Special economic zones
(C) Duty free tariff zones

(D) Indian technical and economic
cooperation zones

Civil Registration is an important tool for
studying about which of the following ?

(A) Civil Laws

(B) Dynamics of Population
(C) Birth of Children

(D) Registration of Deaths

The countries which are in the first
stage of Demographic Transition have
a base which
rapidly.

(A) Stable, decreases
(B) Fluctuating, fluctuates

(C) Narrow, broadens
(D) Broad, narrows down

The decrease in basic activities leads
to in the demand for non basic
activities.

(A) Concurrence

(8) Boom

(C) Stability

(D) Depression

48.

49,

50.

51.

usds Awslflal Ao WA Y5

dfRlaTiiy sl HnuLsla YA wRt

UHEL Bls gl& Hotl ABet B

(ArcuA sdctHl A B

(A) Rsia yBae [Qacud

(B) (A 2lels (Qacu

(€) sydl gl 23s [Qxu

(D) etrclla 2slaAsct wa uestd wEs
EERR

Rl 92t A (Aot Higll Aot
(AQ weaud sal HR2a] Bls Hecaygl
Aot B,

(A) LIRS staet
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(A) RAR, ualsl
(B) duu2, duuz
(C) ¥y, curR
(D) R, vl

yaeet ygcdlaiiui e2isl acugl
[@etynegrt ygdlalodl ot
AU B,

(A) UM
(B) cltu?l
(C) RARA
(D) ©alsl



b

52.

53.

54.

55.

Who is the propounder of transport cost
school ?

(A) Alfred Weber
(B) D. M. Smith

(C) August Losch
(D) E. M. Hoover

Wholaid the foundation of the deterministic
approach in Geography 7

(A) Carl Ritter

{B) George Chobat

(C) Darwin

(D) S. Thomas Kuhn

What were the basic idea behind
classification of planning regions of India
used by L. S. Bhatt ?

(A) Natural resources and agricultural
land use

(B) Climatic conditions
(C) Industrial production

(D) Infrastructural development

According to G. Mydral ‘Back Wash’
refers to

(A) Supply of labour and capital to
central

(B) Harbour development
(C) Sea waves and trade

(D) Transportation network

52,

53.

54.

55.

ausotctaldtetl Walell Qi
U35 5 B,

(A) 2ucks AsR

(B) S dlet. »{lu

(C) 2ore Al

(D) 8. AH. R

el (An2et veARML [AulWuas
WALIHatoll HoL K16 RAUNRAL &l ?
(A) sld Rer

(B) 2% Wl

(€) sudat

(D) AU AHA §&

A, AU, ®g Gl ellRdell [[eet

ytalle] aollswl seal w2 Aoll vUkIR
Al uiell gl ?

(A) 4islds et ud VAsla
RGuAoL.

(B) uolscilell RAL.

(C) lePls Gaugat.
(D) Hnuusla (st

%. RSt ok YAt — (Back
wash) ofl ieel 8,

(A) Bon ol 304 el Yool yfd

(B) siRiell [Asiat

(C) ¥Ms AdA ol AuR

(D) uRdsat 1ol
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56.

57.

58.

59.

The ability of land to support human life
and satisfy human wants is expressed in
terms of

{A) Carrying capacity
(B) Working capacity
(C) Arithmetic density
(D) Agricultural density

Which indicator is used for delimitation
of cultural region ?

(A) Religion

(B) Caste

(C) Social customs

(D) Folk songs and dance

Losch explained his theory of industrial
location on competition.

(A) Perfect

(B) Monopolistic
{C) Fluctuating
(D) Stagnating

Which of the following countries form

group of eight (G8) ?

(A) Canada, France, Germany, Italy,
Japan, Russia, United Kingdom and
United States of America

(B) China, France, India, ltaly, Japan,
Russia, United Kingdom and United
States

(C) Canada, France, Germany, India,
Japan, Russia, Pakistan, China

(D) Canada, France, Brazil, Italy, Japan,
Russia, China and United States

56.

57.

58.

59.

el fleallal 28 vuudl wal
Hgell Hidtl Acdlnal H2edl

g {lotol &l ealletal W2 auzidl
o€ el sdala 8.

(A) clestatHct

(B) 513 sclell &Ml

(C) uisstslay oflaudl
(D) s sNuc

AUleglds Y atott Rniset W2 s
RO Blul? Ml wd B ?
(A) i

(B) =l

(C) AHEDs ld-Reusy

(D) sl wal Alsojel,

2205 s 2eulotott Rgicdl Al2L 6131

Gellolell Wlola el U
duostel,

(A) Aydl

(B) AslAst2 ale
(€) auuadl

(D) RAR

%). A6 ( YU Alg A&2) ofl Ut sl
gl wAcl & 2

(A) 3alst, Slet, anlell, salell, atulat,
2, $Qes, WARsL

@) Alot, slet, elct, vacll, Wulet
320, 85, wARSL

(C) ¥alsL, slodt, ¥iell, euRd,
stulet, (A2, Ulcltet, Alst

(D) 3alsl, slodt, dflet, salcll, wstule,
A, Llot, B2AS
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61.

62.

63.

The essence of Multi level planning is
(A) Decentralisation

(B) Centralisation

(C) Polarisation

(D) Dispersal

Who introduced the concept of
Geopolitics ?

(A) Mahan

(B) Carl Haushofer

(C) Mackender

(D) Spykman

In which ocean the geopolitically important
Deagogarcia Island is located ?

(A) Attantic ocean

(B) Pacific ocean

(C) Arctic ocean

(D) Indian ocean

Cultural heritage deals to

{A) Religion

(B) Caste

(C) Cutltural traditions and folk
(D) Cultural segregation

. Medical tourism is concerned to

(A} Travel to visit medical institutions

(B) Travel across international borders
for medicat treatment

(C) Travel for recreation to tourist
centre

(D) Travel for health to hill stations for
entertainment

60.

61.

62.

63.
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65.

67.

68.

69.

Santhals are mainly concentrated in
which areas of India ?

(A) Rajmahal hilis
{B) Vindhyan hills
(C) Aravali hills
(D) Satpura hilis

Neopolitics of world natural resources
refers to

(A) New energy order of geopolitics

{B) New England politics in geopolitics

(C) New resources politics in
geopolitics

(D) New politics for world transport

After the World War |l, the schoo! social
determinism became quite popular in

(A) Austria
(B) Holland
(C) Sweden
(D) Al of these

Who is credited with having brought the
concept of territoriality within the perview
of politicat geography ?

(A) A. Aliand (B) Zimmarman
{C) R.D. Sack (D} de Blij

A State which places most power in the
hands of Central Government is a

(A) Federal State
{B) Nation State
{C) Fragmental State
(D) Unitary State

65.

67.

GlRcloll sl Y el dad neu
ASlell el e 8 2

(A) RAHSIE Udd

(B) lotflanuct udd

(C) wacell uda

(D) Uty udd

- A gecdl duttsllotl RANAR sl

ded 8.
(A) o3 Aot 21§52 s HJUUARSY.
(B) o SoQes WAlElsu 8ot
B UAR 1.
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71.

72.

Which one is not related to health care

planning and policies in India ?

(A) to identify the health needs of the
population

(B) to develop strategies to address
those needs help for health

(C) to develop strategies for the selected
people of health

{D) to allocate resources to implement
those strategies

Statement | : Due to intensive work

and scholarship of Vidal-de-la-Blache,

geography was established as a separate

branch of scientific study.

Statement Il : French Geography was

unicentric to Vidal-de-la-Blache.

Select correct answer from options given

below.

(A} Statement | is true but Statement li
is false

(B) Both the Statements are true

(C) Both the Statements are false

(D) Statement | is false but Statement Il
is true

Who wrote a book named ‘The World - A
General Geography’ ?

(A) O. H. K. Spate

(B) David Harvey

(C) Dudley Stamp

(D) Griffith Taylor

70.

71.

72.
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73. Who first set up the main Geographical 73. Qi A yun NS sQuBsa

observatory in Russia ? wloxdzdl sl8l audl edl ?

(A) Pyotr Petrovich Semyonov (A) A VAUAu AMAAd.

(B) Alexander lvanovich Voeikov (B) UASNRe5? BellallldU Aefsla
(C) Kropotkin (C) s\dzslet

(D) Karl Heinrich Marx (D) slcl 3ol by

74. The concept of ‘Applied Geography’ | 74. “Jwces s20S” ol URSsCUSL ol

springed out from the study by 2 sA RN Aclel sl A B ?
(A) Hartshorne (A) &Légllel

(B) Carl Ritter B) sid Re?

(C) D. Whittiesey (©) B. cflea

(D) Dudiey Stamp (D) ssell @,

75. In 1968, who founded ‘Society for Human | 75. “QA2El §1R GHot BsAR Ao
ollHoll 2elell 8.2 1968 Hi S1Q

Exploration’ ?
WUl 531 &l ?

(A) Turner (A) 2 of2

(B) Johnston (B) *dletdlol

(C) William Bunge (€) [af@ant oidl
(D) H. H. Barrows (D) AU AHAu. o

76. Who said “The Sun rises from the Sea- | 76. 2ol Geal eRau Bl otelui wa B

like river and sets into it everyday” ? U A e3¢ AN B - A [Atlet

s s& &d.
(A) Thales (A) 3 ?
(B) Anaximander (B) Acl@Aes?
(C) Hecataeus (C) &stex
(D) Homer (D) &R
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77.

78.

79.

Name a scholar who wrote a book titled
“Codex Masudicus”.

(A) Ibn Khaldun
(B) Al-Idrisi
(C) Al-Biruni
(D) Ibn Battuta

Name a scholar who climbed Chimborozo
peak and established the relation between
altitude and air pressure, influence of

altitude on temperature and crops.
(A) Bernhard Varenius

(B) Alexander von Humboldt

(C) Strabo

(D) Oscar Peschel

Statement - | : Ptolemy’'s conception

about ‘South-east Asia’ was better than
that of his predecessors.

Statement - Il : Ptolemy discovered the
real cause behind the flood of the Nile.

Select correct answer from options given
below.

(A) Statement | is true but Statement Il
is false

(B) Statement i is false but Statement |
is true

(C) Both the Statements are false

(D) Both the Statements are true

77.

78.

79.
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80.

81.

82.

83.

Who invented on instrument ‘Gnomon’
which was used to study the relative
position of stars and planets ?

(A) Homer

(B} Herodotus

(C) Anaximander

(D) Plato

State which of the following is not the
characteristic of hypothesis.

(A) ltis capable of being tested

(B) It states the relationship between
variables

(C) It is inconsistent with most known
facts

(D)} It explains the fact that give rise to
the need for explanation

Deliberate, purposive and judgement
sampling reflect which type of sampling

types ?

(A) Simple random sampling
{B) Complex random sampling
(C) Probability sampling

(D) Non probability sampling

Crop production in different years can
be best represented by which of the
following ?

(A) Triangular diagram

(B) Duo direction bar diagram
{C) Linear graph

(D) Band graph

80.

81.

82.

83.

‘Gnomon’ sliMell dltletell 2l S8
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wad 8 ?

(A) &R
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84.

85.

In case of reflection and refraction of

electromagnetic radiation,

(A) Angle of incidence = Angle of
refraction
(B) Angle of incidence = Angte of

reflection

(C) Angle of refraction = Sum of the

angles of incidence and refraction

(D) All of the above

Statement — | : Nominal scale is simply

of assigning number symbols to events
in order to label them.

Statement — |l : Median is the oniy
possible measure of central tendency
which can be employed for Arithmetic
operation.

Select correct answer from options given
below.

(A) Both Statements are true and
Statement Il is the correct explanation
to Statement |

(B) Both Statements are true and
Statement Il is not the correct
explanation to Statement |

(C) Statement | is true and Statement |
is false

(D) Statement | is false and Statement Il
is true

84. (Qarjusla dRolell aslelciet
el URlcddetotl Bruul

(A) aud yell = asledst yall
(B) atuld wall = wendla wgell

(C) asletciot WEl = UL A
ulae{lar wguell uaa,

(D) GURell vl .

85. [Akitol-1: AlHIBA Wt Hi Yo
AulE sl HIE uissislel dsil

BUAHL 2 B,

Qeiot-1: Hraradl 22209 A 3ol
ARl W sHiaL deldd MU B B

250l ctoll 513004 2 Guowdl
e ASLA B,

o(lAot Ul R @Qscu ude s

(A) o Qausl Wl 8. wel {Auitet Iy
A [Quitet | ofl w2l rurect
3

(B) oA [Qeuell Ul B. il [Aelet I

A Qs | ol WAl 2uredt s2q
atell

(C) Qutet | WY & wa [Quist 1y
ulg B

(0) Quitet 1 WIZ B uat [Atust |l
Uy B,
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86.

87.

GPS receivers primarily work by
(A) Transmitting signals to satellites

(B) Calculating the user's position based

on satellite signals
{(C) Monitoring ground control stations

(D) Analysing satellite orbits

Big data sharing and its applications
in natural resource management often
invoive the use of advanced technologies

such as
(A) Coding and Morse code

(B) Cloud computing and Machine

learning
(C) Fax machine

(D) Google drive

A thematic map that displays the
distribution of average annual rainfall
in different regions would fali into which
category of maps ?

(A) Topographic map

(8) Climate map

(C) Choropleth map

(D) Isometric map

86.

87.

88.
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89.

91.

A hypsographic curve shows the

relationship between

(A) Elevation and distance along a river
profile

(B) Elevation and the number of landforms
within a region

(C) Eievation and the length of riverin a
drainage basin

(D) Elevation and the width of a valleys
in a region

. What is the ‘Degree of Correlation’

between levels of fertility and mortality
and the proportion of adults ?

(A) Negative

(B) Positive

(C) No relation

(D) No definite retation

Read the following statements.

i. Typical of areas where the rainfall
exceeds 250 cm

ii. Annual temperature 25°C to 27°C
iii. Average humidity is more than 75%
iv. Trees do not shed their leaves

Which type of vegetation does it
represent 7

(A) Tropical wet evergreen
(B) Tropical semi evergreen
(C) Tropical dry deciduous

(D) Tropical moist deciduous
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92.

93.

The ‘Co-efficient of Variability of Rainfall’
indicates the amount of fluctuation of
rainfall recorded over a long time. The
variability of rainfall in India would be
more than 40% in which of the following
parts of the country ?

(A) North eastem India consisting of parts
of Arunachal Pradesh, Nagaland and
Manipur

(B) Western part consisting of Western
Gujarat and Rajasthan

(C) South-western India consisting of
Kerala

(D) Coastal Odisha and Andhra
Pradesh

Place the Himaiaya Mountains in North

to South Order.

{A) Hindukush — Pir Panjal — Kailash —
Shiwalik

(B) Karakoram — Ladakh — Zaskar — Pir
Panjal — Shiwalik

(C) Pir Panjal — Shiwalik — Ladakh —
Hindukush

(D) Pir Panjal — Kailash — Ladakh —
Hindukush
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94.

95.

The coal deposits in India are found in
which of the following regions ?

(A) Sedimentary bed rocks
(B) Anticline of rocks
(C) Gondwana and Tertiary fields

(D) Mesozoic and Tertiary geological
periods

Putthefollowing States in descending order

in terms of cotton yarn production.

(A) Tamil Nadu —Maharashtra — Punjab
— Guijarat

(B) Maharashtra — Gujarat — Haryana —
Karnataka

(C) Gujarat — Tamil Nadu — Madhya
Pradesh — Punjab

(D) Maharashtra — Gujarat — Tamil Nadu
— Karnataka

- 10 meter submergence of the forest

near the Mumbai Island and the raised
beaches along the east coast of India
to the height of 15 to 30 meters above
sea level are the result of which of the
foliowing ?

{A) Sudden forces

(B) High sea waves

(C) Diastrophic forces

(D) Submergence of {and
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97.

98.

99.

100.

Which of the following common materiais
are the most abundant elements of the
rocks of Lithosphere ?

{A) Aluminium, suiphur, calcium
(B) Iron, silicon, aluminium
(C) Phosphorous, sodium, potassium

(D) Calcium, iron, magnesium

Ganga Action Plan was initiated in which
of the following year ?

(A) 1975 (B) 1985
(C) 1995 (D) 2005

Natural resource scarcity has been a
major cause of economic backwardness
in which of the foliowing regions ?

(A) Dandakaranya
(B) Assam Valley
(C) Rajasthan Plains
(D) Kashmir Valley

In India with the advent of which of the
following modes of transport, the supply
of food has shifted from umiand to more
distant places ?

{A) Waterways
(B) Roadways
(C) Railways
(D) Airways
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